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public class Client {

public static void g(String[] args)

{
List<String> 1lst = Arrays.aslist (args);

(A) poon XN List -1 (C) ni77n Xin Client IT XN0AIT2
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public class MathWizard {

/** returns the square root of num

* @pre epsilon >= 10 ~(-6)

* @post abs(Sret*S$Sret - num) <= epsilon
*/

double sqrt(int num, double epsilon);
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public class AccurateMathWizard extends MathWizard ({

/** returns the square root of num

* @Qpre epsilon >= 104 (-20)

* @post abs(Sret*$ret - num) <= epsilon/2
*/

double sqrt(int num, double epsilon) ;
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? . \
public class A{ A n nuwrw B 7 qoiny

public void func() throws IOException{ }
}

public class B extends A{

M //public void func() {}
M //public void func() throws IOException {}

M //public void func() throws EOFException{}
] //public void func() throws Exception{}
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public class A{
protected void func(){ }

}

public class B extends A{
//public void func(){ }
M //protected void func() {}
Bd //void func() {}
€] //private void func() {}
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public class A{
public Number func() { return null; }

}

public class B extends A{
Xl //public Object func() { return null; }
M //public Number func() { return null; }
M //public Integer func() { return null; }
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public class Square { public class Rectangle
extends Square {
protected double length; e

public double getLength () { protected double width;

return length;
} public double getWidth () {

return width;

public double getWidth () { }
return length;
} public double area/() {
public double area(){ return length*width;
return length*length; }
}
}
} Rectangle is NOT a Square — "77 aix'wn ' 1M

getLength () ==getWidth () NX 7207 ¥ Square 7w "Imnwnn 7unY
T 7V My X7 Rectangle N1l =
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public class Rectangle { 72K (]2 XIn yian) is-a on' pvpnn
protected double width; [NPY DV'PNN X7 DTN '9'¥50N WIN'M2
protected double length; .N97nnn
public double getWidth () { N 1AW WP 791 vIaMa wnnwunt [N NY
return width; 2702 wnnwin? n'n

}

AlO RIN YIA"M N'ONNNY |I1'ON — Y'Non N7

public double getLength () { |17n‘nu

return length;

}
V1AM NIR7NNN NX WNnd NRT 722 'R TN

f)
public double area() { ?[Ami

return length*width;
} "D'axd DNt NIYY? ' ndinn 071va

public static void widen (Rectangle rect, double delta) {
rect.width += delta;

}
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public class Base {
private void priv() { System.out.println("priv in Base"); }
public void pub() { System.out.println("pub in Base"); }

public void foo () {
priv() ;
pub () ;

public class Sub extends Base ({
private void priv() { System.out.println("priv in Sub"); }
public void pub() { System.out.println("pub in Sub"); }

public class Test {

public static void main (String[] args) {

Base b = new Sub();
} ° (o) (@]

priv in Base
pub in Sub
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public class Base {
public int i = 5;

} public static void main(String[] args) ({

Base bb = new Base() ;

Sub ss = new Sub() ;

public class Sub extends Base { Base bs = new Sub() ;

public String i = "five";
} System. out.printin(bb.1i)
System. out.printin(ss.1i),
System. out.printin(bs.1i)

public class Test {

five } ?09T1 NN
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:(java.lang.String NN NNITXN9N) 120 AXN NT

static String valueOf (double d) {..}
static String valueOf (boolean b) {..}

707 DY Nn 7ax
overloaded (Rectangle x) {..}

overloaded (ColoredRectangle x) {..}

,0'7NN7 20" Yronipn XN K7

Rectangle r = new ColoredRectangle ()
ColoredRectangle cr = new ColoredRectangle () ;
overloaded(r); // we must use the more general method
overloaded(cr); // The more specific method applies
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overTheTop (Rectangle x, ColoredRectangle y) {..}
overTheTop (ColoredRectangle x, Rectangle y) {..}

ColoredRectangle a = new ColoredRectangle () ;
ColoredRectangle b = new ColoredRectangle () ;
overTheTop (a, b);

?b ixa 770019 nr'x 7w 7ax(casting) nnin nwaTw 1N2
NIN'AQ N'ZIN X7 NNAYWN N7Y90 ;0'7NN7 T 'R
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overTheTop (Rectangle x, ColoredRectangle y) {..}
overTheTop (ColoredRectangle x, Rectangle y) {..}

ColoredRectangle a = new ColoredRectangle ()
ColoredRectangle b = new ColoredRectangle ()
overTheTop(a, b);

N'ZIN AN DMWY AR LN N0NAN 71 ANTD DX

72N ;N'PIN K77 D291 NARM7N ,N7120N NONAN NN 0'9'0IN TWND
NINZ71 ,TIAY7 'wnn N'DINNIEL,NK YAl7a 0T OX DT DX 0720 X7 3779010
NPIN'N NoNA?
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public class A {

/’:k

public void fung(Object o, String s) {
System.out.println("calling version A");

}:‘:/

¥

public class B extends A{

public void func(String s, Object o) {
System.out.println("calling version B");

}

public class C {

public static void main(String[] args) {

B a = new B();
a.func("abc", "abc");

7oNn711 "ynnn A 2 TIPn DX X'¥1 OX
7w xoNan oy YN?7ywnn C AN N
.B
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class B {
overloaded (Rectangle x) {..}

}

class S extends B {

overloaded (Rectangle
overloaded (ColoredRectangle x) {..} // overload

but no override!

x) {..} // override

S o = new S();
ColoredRectangle cr =

o.overloaded( cr );
((B) o) .overloaded( cr )

// invoke the purple
// What to invoke?
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class B {
overloaded (Rectangle x) {..}

}

class S extends B {
overloaded (Rectangle x) {..} // override
overloaded (ColoredRectangle x) {..} // overload but no override!

S o = new S();

ColoredRectangle cr =

o.overloaded( cr ); // invoke the purple
((B) o) .overloaded( cr ) // What to invoke?

19501 ,NNYN DY ,0XVN 019'0) NNYN 7W Nn'MNN DX NI '0V0 KIN NONYNN [12211
NP NN'Y NTR VAR X7 1TV 7aX,(DM0on1on aiol

‘nnn (Nx?'onip mra) 'nan ((B) o) .overloaded( cr )Ry Y
B.overloaded (Rectangle)

IDITND XID '01270 TN nnwn B o19'un XN axnpn Tv'w 7722

D'XNNN NX ,NNT NN 7202 D'MNYn "2 NINAY ,'MI" TN NIA'YN 111N 7U9In nx¥"M Nt
20N NNYN 1NA) |3'7 , S NIN M2 019'0N XN TV 7¢ M1'TN 019'07 NI

B b =new S(); b.overloaded( cr ) :N'nnXM7N DX 71D
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public static int comparesCounter;
public static void main(String[] args) {
List<Integer> ints = Arrays.aslList(5,4,3,2,1,6);
ints.stream()
.filter(x->x%2==0)
.peek(x->{System.out.println("peek " + x);})
.sorted((x,y)->{

comparesCounter++;

System.out.println("comparing: " + x + "," + y);

return Integer.compare(x, y);

})

.forEach(System.out: :println);
System.out.println("num of compares: " + comparesCounter);
}
output: ( )
ook 1 ,90121 ,N7Y9IM X' 1'7V DT DX N'Thn peek n71y9n
e 0NT9) N72APYW N71IV9N DX DITA MR 70 7Y n7won
peek 2 J
peek 6 e
comparing: 2,4 ,NNIXR VXA7 Nan 2y .n'mavw n71vo N1tk sorted n71von
comparing: 6,2 L In%vom X'n I'2V DD MAX 70 NN QI0N7? 2 |
comparing: 6,4
2
4 o ®) O VY¥11 OX NMINY' NN
6 filter n N71V9 NX
num of compares: ?sort n Nn71V9 NNX
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public class Test{
public static void main(String[] args) {
func("abc");

}
public static SimpleClass func(Object i) {
try {
String str = (String)i; finally n 7172 Dxin
return new SimpleClass(str); 2UNITY!
H llamod
finally { 21NN :NYRUN N7RY)

System.out.println("finally!"); NVINYN AYIONNaY 155

TV .N'Y7119N0 DX
197 X1 DTN
finally n 7172 yxannw

}
}

public static class SimpleClass{
public SimpleClass(String str) {
System.out.println("*: " + str);

}
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/**

*/
public class SectionA {

*  @pre lisEmpty()

*/
public Object pop(){

final Object popped = top();

elements.removeLast();
return popped;

* @inv lisEmpty() implies top() != null

private final LinkedList<Object> elements = new LinkedList<>();

6 N'a 72NN NNy
NINMY NX NNSN NIY1190 ['an 17'X

70NN

/**
*  (@post !isEmpty()
* (@post top() ==
*/
public void push(Object o0){
elements.add(o);
}
/**

*  (@post @return == @prev(top())

N19N push N'¥7190
NINYN DX

push 2 win'wn INKX7?
12 XN X7 20!
N7 null n'tnn top
N7 NI’ NoNNnY
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/**

* @inv lisEmpty() implies top() != null

*/ NN 19N top ‘j71on
public class SectionA { null w' DX 71 NMIMwN
//previous methods .N10nna
[/*** ?0wY yan null 0 X

|12 Nwninn push ox

/**
JNR7 0 KT Nt

*  (@pre lisEmpty()
*  @post @return != null

*/
public Object top(){
return elements.getLast(); winmY on'nn NTiNn
} post n 'Nan |27 ,"190
2 nim nrak Y
/** post_impl
%k
*  @post @return == true iff elements.size() == ©
*/
public boolean isEmpty(){
return elements.size() == 0;
}
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public class Test {
public void test(int num) {

final int x = num+3; N71>' toString DXN
int y = num*2; ?num 7 DA NWAY7
int z= num-1;

[class Info{ \

I public String toString() { :
i return "**" 4+ x 4+ "**" 4 y 4 "k 4|7 1K
! } ,
e ran R T T ANKX7 TR NN
7z = 4; | I T

?1T "MW NO0oIN

System. out.printin(new Info()),
}

public static void main(String[] args) ({
Test t = new Test();
t.test(5);
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